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Date:                  

Day 9: Factoring Tricky Trinomials II

Chapter 4: Quadratic Expressions


Task 1:  The Hardest Part . . .
In each diagram below, write the two numbers on the sides of the “X” 
that are multiplied together to get the top number of the “X,” but added 
together to get the bottom number of the “X.”
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Task 2:  Factor Each Simple Trinomial 






       Answers












    (not in order)
	1. x² + 3x – 10
	2. x² + 5x + 6 
	(x + 1)(x − 6 ) (x + 4)(x − 3)

	3. x² − x – 6
	4. x² – 2x – 63 
	(x − 3 )(x + 2) (x − 1)(x − 6 )

	5. x² + 5x − 6  
	6. x² + 7x + 6 
	(x − 1)(x + 6 ) (x − 7)(x + 2)

	7. x² + 3x − 40  
	8. x² − x − 56 
	(x + 2)(x + 3) (x − 8)(x + 7 )

	9. x² − 15x + 54  
	10. x² − 14x + 24 
	(x − 9)(x + 7 ) (x − 5)(x + 8 )

	11. x² − 5x + 6  
	12. x² − 6x − 16 
	(x + 3 )(x − 2) (x − 10 )(x − 2)

	13. x² − 7x + 6 
	14. x² − x − 2 
	(x − 2)(x + 5) (x − 3)(x − 2 )

	15. x² − 5x − 14  
	16. x² − 12x + 20 
	(x + 1)(x + 6 ) (x − 8)(x + 2)

	17. x² − 10x + 9 
	18. x² + x − 6 
	(x − 9)(x − 6 ) (x − 12 )(x − 2)

	19. x² + x − 12 
	20. x² − 5x − 6  
	(x − 1 )(x − 9) (x + 1)(x − 2)


Task 3:  Factor Each Tricky Trinomial 






       Answers












    (not in order)

	21. 2x² + 9x – 5
	22. 4x² − 17x  +15
	(x + 7)(5x + 3)
(2x - 3)(5x + 2)

	23. 9x2 + 3x - 2
	24. 10x² − 11x  − 6
	(3x + 5)(x + 1)
(x - 3)(4x - 5)

	25. 3x² +2x  − 21
	26. 3x² + 8x + 5
	(5x + 1)(x + 3)
(3x + 2)(3x - 1)

	27. 2x² + 9x + 7 
	28. 9x² − 9x  − 4
	(2x − 1)(x + 5) (3x + 1)(x + 5)

	29. 2x² − 5x + 3
	30. 5x² + 8x + 3 
	(4x + 1)(x + 1)
(5x + 7)(x - 2)

	31. 4x² + 8x + 3 
	32. 5x² + 38x + 21 
	(3x - 5)(5x - 1)
(3x + 1)(3x - 4)

	33. 6x² − 11x  + 5
	34. 4x² − x  − 14
	(2x + 7)(x + 1)
(4x + 7)(x - 2)

	35. 3x² + 16x + 5
	36. 5x² − 3x  − 14
	(2x − 3)(x − 1)
(6x - 5)(x - 1)

	37. 4x² + 5x + 1
	38. 2x² + 15x + 7 
	(5x + 3)(x + 1)
(3x - 7)(x + 3)

	39. 5x² + 16x + 3 
	40. 15x² − 28x  + 5
	(2x + 1)(x + 7)
(2x + 1)(2x + 3)


 Task 4:  Factor Fully (Remove Common Factors First)




       Answers












    (not in order)

	41. 4x² − 4x − 24 
	42. 2x3 − 14x² − 36x 
	−4(2x − 1)(x + 3) 2(3x − 5)(x + 2 )

	43. 12x10 + 42x9 + 18x8 
	44. −x² − 2x + 3 
	x3(x + 1)(x + 3) −(x + 3)(x − 1)

	45. x4 + x3 − 6x²
	46. −8x² − 20x + 12 
	4(x + 2)(x − 3) 
−(x + 2)(x − 3)

	47. −x² + x + 6
	48. x5 + 4x4 + 3x3 
	x(x + 5)(x + 1) 6x8(2x + 1)(x + 3)

	49. x3 + 6x² + 5x 
	50. 6x² + 2x − 20
	x²(x + 3)(x − 2) 2x(x + 2)(x − 9)
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